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A, FHHTE B. Sfz+3= C, T4TE D, SeagE
19, s Aty e

A e B. Asft C. o D, EreenEr

The earth i whout 4.3 billion years old, and during its life, the climate his changed guite often and the planet has experienced
an Tee Age, warming and everyihing in between. Scientists agree that the Earth’s average temperature has increased by about
|.EF over the past 200 years. It may oot sound like a big change. but it will infleence the earth. The carth is covered like a
greenhouse, which s used by some farmers. orisis, and others o grow planis. A greenhouse i5 o glass- covered building that
absorbs the heat from the sun it is usually very hot, OF course, the earth is not covered wiih glass, but the greenhouse eflect
refers to the retention of the sun's warmih in the canh’s lower atmosphere by greenhouse gases. The preenhouse glass include
maostly cirbon dioxide, methane, and nitrous oxide. These gases ( instead of glass) act as a blanket for the earth, helping 1o keep
the eanh wanm enough 1o suppon life ot an avernge temperature of about 30 F, An mcrease in the greenhouse gases the eanh 1o
become warmer. Think ol it as o heavier blanket. The blanket is created by the gases released into the atmosphere when fossil
fucls such as oil, coal, and natural gas ane burmed.
I. A suitable title of the passage Is

A Global climate B, The long history of earth

. The problem with fossil fuels . The greenhouse effiect
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5.

e B amereslt wdw fdte vy wElwEms TR S E- (A list of all the product items sold by a
particolar marketer is called-)

A ey s (product line) 8. vl fm {product mix)
C. *o 2CR {product stratepy) 1. *%7 RTEH {prodisct assorimaent )
. AT TENCIE (O (R TSRS ST 5 TEs T { Which concepi is mostly Following in ihe business arena
of Bangladesh? )
A, T T (product concept) B, B w2 (selling concept)
C. e WA (product concept) D, wnnfers AWEErERET WEAW (socictal marketing concept)
sz et s fRwifee Swreer (Which of thie Tolowing is an example of multiple shop?)
A, = [ Almis) B, TR =0 (Mustofa mant)  C. =51 (Bam) D, =TT Agora)
. R mm ol ﬁ'ﬁ?ﬁ FARTE W FHTF? (Which of the following products is invalved in low price
sensitivity?)
A HRErEE = (convenience product) B, e #e {shopping products)
C. fafak sy (specialty products) 0. =S %95 (unsought products)

TRTLA] TS A1 H] W AT W TR S SE0E # 7 7] NI i A ST A S0 W 5= (Any activity or
henelit that one party con offer to another and which dees not resalt in the ownership of anything is called-)

AL (goods) B. OH (services) C. w3l {jdeas) D. &= (information)

Bz oAl csten e Srefesom wivette By (Which of the following is the behavioral dimension if consumer
markel segmentation?)

AT profession) B. ™1 (education) C. SETE (loyaly) . F4= o5 (life siyle)

s el e G B S (Which of the following is not an clement of marketing mix?)

A, T (prodluct) B, =7 (price) [, W (place)

: s TR AT {Which one of the fllowings ks the indicator of wealth maximization?
A penia S 99 (Future value of share) B. cormmara SrefiEs 490 (Intrinsic value of share)
C. cermrear i apowst 907 (Nt assel value of share) D. TR A AT 0 (Presont market valae of sharc)

il AT Brete awrre owo Frosn oo Forres Tcasst == 50 e (Which one of the following aspeets is not taken
into uccount while making decisions of linancinl manpgement?)

A w1 65 = (Annual net profit) B. 6w 2/ (Net cash Mow)

C. =nifE 70 97 (Time value of money) D, =i (Risk)

Fmm s e S e (Which one of the Tollowing is not a principle of Finance?)

A. T ATE (Principle of Liguidity) B. e 7w 90 A8 (Principle of Time value of Money)
C. sfewm HE (Principle of Compensation) D, tafeamm SFE (Principle [ Diversity)

fiEe =W SR TeET wide FfE 55 =87 (Which one of the following reasons invites financial risk into o business?)
A WY =5 20 9% (Increase of fed operation cost)

B. =it STEA1E9 (Decrease of product demand)

C. %13 9 (Increase of debl-capital)

D, e e T Wi TREH (High volatility in the selling price of the product)

Free SovTEEE T T W 9 TR (Which of the following sources bears the highest financing cost?)

A, Toerana (Debenture) B. 7= (Bomd)

C. FE A (Retined eamings) B, RS O (Common shire)

A el wer e wdE B0 (Which of the following is a source of Internal Moancing? )

A. T W (Trade credit) B, == W9 [Bank loan)

C. =% (Morgage) D. #efeE e | Retined eamings)
i S T, WO e e wo— (I Lax rate is decreased, the cost of debt in real sense will—)
ALETA ST (Decrease) B. 9% 1 {Increase)

C. =9RES o= (Remaim unchanged) D, E3-7man T ( Fluctuate)

e fafemmeimdiee oot el e g s s e (Which principle can help an investor to reduce risk?)
A et et AFE (fdeal Principle of Financing) B. srEme AfE (Dividend Palicy)

C. T TE (Prineiple of Liquidity) . ERfEIm TE (Principle of Diversity)

e TS e CFES O e WEEIT (Which of the following isfare disndvantages of pay-back period method? )
A T Qs e e sl sy erersgren Frese = 0 (Does not consider cash Nows after pay-back period )

B. -t Swges e 90 S (Does not favor shori-term) project)

C, =l s e faaeT B 77 (Does not consider the time value of money )

D, Awm C E=EE (Both Aand C)
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4.

s wivay il s em e Tws 507 (Which one is used as a certificate of ownership in international
business?)

A = o F (Adrway Bill) B. ™% (letier of Credit)

C. af6Fe (Bill of Entry) D. SR 0 (Charter Party)

el wrrativer @ BWEe ( Which one bs a content of Memorandum of assoclations?)

A @i S [Objective of company) B. R e (Rights of Shareholders)

C. W& (W %812 | Dividend decloration method) D #fasm 86 ( Election of director)

. Fermaree g f8f% %1 (Which one is the muin foundation of control?)

A, BFEE ( Precisencss) B. =7l ( Standard)

C. e { Understandability) D FerEr (Simplicity)

UMY WA E W e o o e R (According to maslow's Need Hierachy Theory, what type of
need *RECOGNITION' I87)

A, wrEfeEm (Sell-actualization necds) B, =t wien (Social necds)

C. sl Sl (Esteem needs) D Taffers 51 (Pliysiological needs)

.|

8

R B I
promotion?)
A, DIEPTE (services) B. ZME (Brand name)
C. 575 (Location) D. ==s Fremren e (Dinect marketing)
AR e aes w7 6T (Which one is the promotional activity of wholesale business? )
A Temmaem (Advertising) B. 2578 ( Publicily)
C. 2% #7H (Sales promation) b, &R (Public relations)
ATeTEETE TR (TS AT & say oRN Wy (Which one is given the highest importance in marketing?)
A, TEE (Consumer) B. *MT (Product) C. ¥ {Price) D. ¥ (Place)
SRR o T ST #fR Sy (Which utility Is created by storage?)
A. WorE Fem (Farm utility) B. Fmwvre Beram (Time atility)
C, §FTE ST (Place utility) D. TFTE S0 (Possession utility)
Tl o (T ceTeTe wesie STEfETE W E- (State of deprivation felt by o consumer about something is called--)
A FEA (Want) B, #omes (Need) C. 51T (Demand) 1. A (Supply)
Treeeersl et e #fei (What Ly pe of product is toothpaste? )
A, Tafor® oo (Specially Product) B. =05E 9 (Unsought product )
C. AT «1 (Convenicoce produst) D. =8 T (Emergency product)

frse el e G e e S (Which one of the following is not related to the fundamental
concepl of marketing?)

A FTEnE (Market) B. 390 (Profit) . fafirm (Exchange) D. 517 (Demand)

TR #fY < e WY GRT CSTERIY T W CIOUE A 567 (Products which are bought by consumers without
prior plan and just on sight are called--)

A. FAwrEERE o (Convenicence producis) B. e ey (Shopping products)
C. it o (Emergency products) D. THTST o (Impulse products)
FfErr AEAETERAE WEAH (T M T A Which kind of idea is held by the societal marketing concept?)
A 9T TIEETERE (Susiinable marketing) B, TIFET B FEEETE (Customer value delivery)
C. =reraeresa gfamm (marketing process) D, crFETEE anrerEEE | Customer focused marketing)
farse el BT8R M RS (Which of the following ks related to style?)
A B85 s 1 (High Quality) B, =TE #75 { Eve Catching)
C. = 71 { Product design) 1. =ferrm o ( More attention)
. ATEERTETELTE R T e T T 0 B (Selling concept of marketing mainly emphasizes on)
A W Y9 (Price of product ) B, e s (Quality of Prodoct)
C. *=7E #¥H (Promotion of Product) D. *we72 %% (Distribution Product)

ol e ARitern SEUEImrT BHET (Which one is the uncontrollable element of marketing
environmentT)

A.-ﬂfﬂ'ﬂ'lﬁ'ﬂr_mtrl"rtitinj B. TZE {castomer) ., wmf {(rechnology) . FTEE (supplier)

. FreE ot e s areerEe T ( Which of the following is a marketing characteristic of industrial goods?)
A TH O I Small umit purchase) B, Feeroms of (afler sales service)
. fags arem (extended market) D, W (=S S0NE (huge consumer promotion)
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According to the passage, the loe Age came

IS

A As an effect of global warming B, After 4.5 ballion vears of carth’s life

C. When greenbiouses were built B. Early in carth’s life
3. The greenhouse gaves

A. Cowver the earth with a blanket of glss B. Sharply increase carth’s tempemture

C. Keep the carth warm (o sustain life D. Reflect the sun’s rays to the carth's lower atmosphere
4. A greenhouse is where

A Plants are grown ina protected stmosphere B. Plants are grown al 59F

C. Farmers grow plants because it is groon I, Carbon dioxide protects plants and flowers

5. In the past 200 vears
A, The carth hos seen an Iee age, warming and everything in between
B. The eanth has become very hot like o greenhouse
C. The eanth has become a warmer place
[, Fossil fuels have been wsed for mieking greenhouses

Fill in the blanks with appropriate prepositions i6-9)
fi. My best [eiend Mazhar is named — his great- grandfather

A after B. 1o C. abow . from
7. The committes hos arrived — a decision.

A B.on C.in D.w
8. Econvmists divider resources— four catlegories

A.on B. into C. for . with
9. 1think he ks familiar— this subjecl.

Ao B. for C. of . with

Fill im the hlanks with appropriate words (guestions 10-13
10, Muoney seems o be the primary— lor most people.

A effect B. hope C. mativator . aspect
11.  The young entreprencur a8 well as her sales team members— praise.
A deserve B. deserves C. has deserved D. deserving
12, The doctor suggested that the patient— weight
A would lose B. lust C. loss D lose
13, It was o verv— situation.
Ao embarrass B. embarrassing C. embarrassed D. embarmssment

Choose the pair that expresses a relotionship similar (o the one expressed by the capitalized pair ( 14-15)
14, DOG:LEASH

A bel: buckle B. Cow: Tether C. Bird: coge D. bicyele: chain
15, BRUSH:PAINTING

A prano; sonal B. Body: Dance C. Typewriter: Novel . Chisel: sculpture
16, Choose the correctly spelt word:

A Accelarnte B. Avcelerate C, Accelermle . Accilarme

17.  Which of the lollowing sentence s correct?
A, Paper 15 made of wood B, Paper is made from wood  ©. Paper s made by wood D. Paper s made on wood
18. The word "Evphemism® means-

A Stating one thing like another B. description of disagreenble thing by an agreeable nome
C. Contrast of words made in the same senlence D A statement made emphatic by overstalement

19, Choose the antonym of the word "NOTABLE®
A Considerable B. Famous C. Insigmifican D. Provocative

20, Choose the synonvm of the word "FAIR®

M. Share B. Sialus = Unj . Trmparnial

A T FTE [ Purchase retum) B. ==feE ey = (Unearned revenue)

C. *8%s 595 | Accumulated depreciation) D. F-w% 5l (Provision for bad dett)

ATBET L SR G0, oo0 TR TN (AT W WA F0 Sk | Wi feaiire <F v 5 5Er (Gungehil Express
forgot 1o adjust the acorved service revenue of Th. 50,000, what would be its impact on the linancial statements? )
A, TTEFE G ORI WA (revenoe will be overstated) B. 75 @ G0 5 | Asset will be overstated)

C. +75 grmml garf®) Qe 509 (Nt income will be overstaied) D %% g9 ozl 900 (Liabilities will be overstated)

s Tem oa)

15
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11

w1 T o i et ¢ 00,000 T T wefl Sl ST 0 S0, T Yo TE WIEM EE G WO Saee T
T WS W R W do,c00 5 o TResfu ownn e wasy wefE e w0y ) v O o
TR 300,000 TR FET = W, ¥ o35 e =% B A 9 w5 T (Four years ago. Jhilmil traders
Purchased an oMfice equipment costing Th. 5,00,000 which will have a life of 10 years and an estimated salvage value
of Th. 50,000 at the end of its life. The straight-line depreciation method is used lor this equipment. I this equipment
could now be sold For Th. 2,50,000, what would be the amount of gain or loss on this sale?)

A 1% qo,000 BRT (Loss Tk. 50,000) B, ¥rs-wigm (FETEE €0 7 (No gain no loss)

C. 75 g0,000 578 (Loss Tk, 70,000) D, 5% 3,600,000 T (Loss Th. 2,00,000)

i ol anfawtd areoe i weltem | Wi g 1 W o 5 3w sl e Set g 15eE piers
AT = e T e | T, DS o sl Wy TR TEE SOTE FE WAL (Bithi and Chaity are two partners
of u parinership frm. Their profit sharing rotio is 3 © 2, They admitted Sathi as o pariner for 13 share of profit in
husiness. What would be the new profit sharing ratio among the partners Bithi, chaity and Shathi? )
AciBre(5:4:3) B Boiy(4:3:3) Cenagd(3:2:1) D.stataib:4:9)

e e G TS T 3, o, 000 TR o T wpTre @ 12 | B iR e o «fE RSt (Shapla company
has a net working capital of The 1,580,000 and o current ratio of 5 : 2. What would be the amount of iis current
linbilities™ )

A 320000 BT 1,20,000) B. 93,000 TSt (Tk. 72,000

C. &.00,000 TR (T, 3,00,000) D. ¢3,83» 0T8T (Th. 51.429)

AR CHTeiE (o e wowiE wapr e e e

feartr wfiram 3,20, 000 BTal; T 0G0 w89 ¢o 000 BT wORaCe A aMIGR 09 2,000 BiEl TR AR ¢ 000
BT | e (o e 3,000 TR | & TEME 9TE G T o B el o fE (The recelvahles control
account of sunflower company provides the following information for a period:

Sales Th. 1,25,000; Cash received Th 30,000; Discount allowed 1o costomers Th 2,000: Bad debl expenses
amounting to Tk, 5,000 and ending balance stood to Th. 95,000, What was the balancing fgure of recelvables ut the
heginning of the period?)

A 39,000 T (68.) [Tk 27.000 (Dr.)) B. 23,000 0781 (5F.) [Tk. 22,000 (Cr.)]
C. Str,00e BT (62,) [Th. 18,000 (Dr.)] D, 2s,se00 5181 (6F.) [Tk, 20,000 (Cr.)]
% e 2059 AW BPRE R :

0 R 3,92, 000 T, §0 90 we,co0 Ui, ool e erefl o wnnefl oo TIEROT 0,00, 000 TIST &ML 8,00,000 D191 |
AT T WITE WTE 81 (The following information is given for a company for the year 2017:

Net sales Tk, 1,75,000; Net income Tk, 95,000; Beginning balance and ending balance of totial assets account are Tk,
00,000 and Tk, 4,000,000 respectively. What is the company s assct turnover ratio?)

A o.28 (0.24) B. 2.2 (0.27) C. oo (0.50) D. o.a8 (0.54)
s el wfEadaTe e (Which of the following is variable cost?)

A T 935 (Insurance expense) B, TR e (Manager's salary)

C. =&7% S5 (Dircct muterial) D. wE¥iiEE =957 ( Depreciation of machinery)

spvifafe wr v = | Adjusting entries for unearned revenues—)

A ATIEP =0T 8 e g S (Decrease liabilities and Increase revenues)

B. WU N @ TErT-SWIEER 908 (Decrease labilities and decrense revenues)

C. '-"“""Ifﬁ'ilrf A G W I A (Increase assets and inerease labilities)

D, ==fe 3 =2 ¢ TOrT-=w 9/ T (Increase assets and increase revenues)

w7 g wifeafie s, Frse o el ol ST G ST ORI H— (Al othier thing remaining constant,
which of the following transactions would not a affect the current ratio? )

A =T W fary sATE W ST (Short-term loam is issued (o pay off current liabilities)

B, (3 oe 0E W WWE (Accounts receivables are collected)

C. fafex wiresimiremes st &9 (Cash is used 10 pay off secounts payables)

. =7 W 716 290 (Fixed ossets are sold for cash)

[, 5.: @@ i 5]

i GEeR T 3,00 ,000 T, RO S0 AT 3,230,000 BT, TR TR OFT 30,000 TR, oW e @ et
AW @, 000 B T T GEERE @ et B 9 (Lamin traders had Tk, 2,00,000 in sales; Tk, 1,20,000 in cost
of goods available for sale; ending finished goods inventory of Tk, 20,000 selling and administrative expenses of
Tk. 55,000, Determine the gross profit of Lamia Traders.)

A Yoo 5T (Tk. 80,000) B, o000 59 (Tk. 60,000)

C. 24,000 BT (T, 25,000) D, 300,000 B (Tk. 1.00,000)
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7.

. s owoTw oAl e Akt geiEs TR A1 (Which of the following transactions would not affect the

balunce sheet total of o firm?)

A =T #ET i ooo BT BoEee (Withdrawal of Th 5,000 by the owner)

B. w,000 GTETE 0@ @5 «f0=md F20 (Payment of Tk. 3,000 accrued expense)

C. (I A7 0% 8, oo BT S 357 (Collection of Tk, 4,000 from debiors)

D, 10 oo TRERFAT &0 200 041 (Purchase of goods worth Tk, 500 on account)

WS TR CED HTHT 21 Yo 000 BT | W W07 BT INEE 8,000 RN o Wil TEE 4,000 BN, GMTE wEE T AW
¢, ¢oo TFF T WE-W T 6 TR wE T o7TE 1T (Total subscription recelved in the income year is Tk,
20,000, Chut of this, T, 4,000 relates to previons vear and Th. 2,500 pertains to next vear, If scerved subscription
for the current vear s Th 5,500; calculate the amount of subscription that will be shown in ln the fncome and
Expenditire Aeconnt of the current year.)

A. 3o,000 B/ (T 20,000) B. ».co0 B (Tk. 19,000)

C. b,ooo0 BT (Tk. 8,000} D. 3¢ oo B (Th 25,500)

wrfls woA R FTETOEE ATE— SHIERT  Reconditioning cost of an old car Is an example of—)

A, «=fl i <=0 (A capital expenditurc) B, el fonfis gamwrsrd swore (A deferred expenditure)

C. afl meersiy S (A revenue expendilure) D, aafh wises an (An operating expenditure )

Fsz wepnE T el ws w e e

ST WS WA 3,500,000 T, T wh,ooo0 BT, T @RS 8,000 T, RT3, 80,000 BT | SRR e R a0
& | Determine the value of ending inventory from the following information:

Beginning inventory Tk, 1,60,000; Purchase Tk 56,000; Purchase return T 4,000; Sales Tk, 1,440,000, The rate of
mark-up on cost is Tk, 25 %s.)

A 509,000 BT (Th. 1,37.000) B. 389,000 0 (Tk 1,30,000)

C. 333,000 BT (TK. 1.12,000) D. 353000 B (T 1.02,000)

ur s e Sygvm aweeTn fovaRmne P oo w9 9w A (While preparing balance sheet of g firm,
which one of the following accounting conceplis is nol considered?)

A, dfzwi 2 v (Histordeal cost concept) B. v SfoRE wEE {Gioing concern concepl )

C. #-a0e W (Full-disclosure concept) D. fEErree Hfe (Maiching concepts)

AR T AR 7 e A e Sye U e T W e WA (In which siccount the

balance of share forfeiture account is to be transferred aller re-issue of forfeited shares?)

A, T Al {55 (Revenue Reserve Account) B, FefEs e e (Reserve Capital Account)

[ thﬁﬁ'ﬁsmr (Capital Reserve Account) . o =S TR (Share Allotment Account)

il CHY TP 400,000 T | BT RS AT @ NG AT TELR do,000 U T du,000 B | TETT genfhe

WIS B TE HE G0 I o, 000 BT | TR ouE e WO Was W At wf wemw aicl oo s Sye

e WPET 41 507 (The purchase price of o machine is Tk. 7,00,000. Its carrving cost and erection cost are Tk.

50,000 and Th. 20,000 respectively. Expected life of the machine is 4 vears with salvage value of (k. 35000, What

would be the amount of depreciation expense in the fest year of the machine if Reducing Balance Method is followed

for charging depreciation?)

A ot 000 BFT (Th. 3,85,000) B. 54000 B9 (T, 1,82,000)

C. v, e TP (Th. 96,250) D. 3.v¢, oo T (Th, 2,85,000)

“wfaressr iy et oot~ ol wTAT T09: (Journal entry of the transaction ‘Commission received in advance” will

he: )

A s sfipr (20, # i w5 fEs (Commissien receivable Dr., Commission revenue Cr,)

B. s feorme feh, 3 = @5 (Cash Dr., Commission Revenue Cr.)

C. 7w R =i, Tvide =i =8 aFeh (Cash Dr., Uneamed commission revenue Cr.)

[, 7 5T (BT, 21 SR aFEe (Cash D, Commission reccivable Cr.)

s el e Remast g2 oot (Which of the following affects the agreement of a trial halance?)

A TR G A (T T o 880 Dy wifEar Tuw fone o8 TR TN WG (Purchase of Tk, 440 from Karim & Sons
entered in both accounts as Tk, 404)

B. o7 s e miy T e T | Petrol expenses entered in motor vehicles account )

C. ZTUFT &5 ¥W 2 A8 ito TR oM FEeT wevEEe R 0 AW e (Sale of goods Tk 250 to Taher & Sons
completely omitted lrom books. )

D. fm wes gao T oy s aR0s o0 =0 | (Electricity expense TK. 500 recorded only in cish book)
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15,

e oM el w0 TP =i 4 30 e (Which one of the following reasons causes to increase the Minancial
risk of & Dusiness?)

A uf ST oo R W (1 common shaires are issued)

B, % weefEE o 406 =0 (I retined earmings increase)

C. =ff Tormmn %30 #1 %0 (If debentures are issued)

D, = TEG (AT T W G (10 right shares are issued)

e Frelin-a S wdns g 6 o e w-w el o i e (A key diflference between the nel present
value technigue and the internal rate of retorn technique for capital budgeting i that:)

A 5 w5 e WLAEIE HE fome 1 (The met present valee is casier o calculate.)

B, TonE fog afeTen m = Teww +7 1 (They use different cosh flows.)

C. Toun o ww=me ames =0 (They use different time penods. )

D. T oo wwFmmm P e 28 (They have different relnvestment rate assumption. )

Fre e wfifeTs TasT TR Wy 7% e REhE = (Which one of the following is treated as the largest
assel in commercial banks?)

A, TR AN WRIFE % T (Cash ot Bangladesh Bank)

B. ¥rit = (Fived assets)

C. 7% & =B (Loans and advances)

. “TB-TIISTe QO 9 (Money al call and short notice)

Fse camin T fee foriee T = A (Which of the following is not used as an alternative to currency?)

A. Te-rufiTe crmEmEn ¥ (Moncy at call and shon notice)

B. o 9E (Pay-order)

C, Zxeredie (8 (Traveler's choque)

D, =15 15 { Prize bond)

cufl ur @EFED =08 e fArs e EFETD oreT Wi (Which one of the following statements Is not true about debit
and credit cards?)

A G are cofel amd oy B oo D) B 2 WA ) (Dbt and crechit Conls are wsed 10 withdraw money froom ATMs)

B, sl am arfeh w8 Fior casarr 50 0 1 (Debin and Credit Cards are used 1o shop)

C. =0 am Gt w16 e 318 | (Debit and Credit Cards are plastic cards)

D. G5 o (T wre-au fevm BT wiw 260w | (Balance ix nectled in account for both debit and Credit Cards)

s el Ty Wi o (Which of the following i nol o negotisble instrument?)

A fafemm fam (Bl of exchange) B. =6 GG (Bank Note)

C. 7 57 (Bank Draft) D. sfEmrem (Promissory Note)
“Jettivon” T B TR (What is meant by Jettison?)

A T B (Goods purchase) B, * G (Goods loading)

C. #¥ ¥=14 (Goods Shipment) D. = FrE (Goods throswing)
e i FRTsTE 5 GFR T A (Which concepl of double insurance is applicable to:)
A, TEF = TS (Bank of England) B, w6 %3 5 (Bank of Venice)
C. firarmes (Riskbank) D, #es W B (Bank of Egypt)
e T weenfl ST O : (The concepl of donble insurance is applicable to:)

A, G-FET (Maarine insurance) B, =7 f91 { Fire insurance)

. & = ( Lifie insurance) D, =1 = ( Crop inswrance)

. e e e R fon arefer o faarend) Senl fon reRe (Under which of the Following categories of insurance,

hoth the insurer and the insured and insurance companies? |

A. T (Co-insurance) B. *FR ( Re-insurance)

C. 57 ft (Joint inswrance) D. vy forsy (Group insurance)
wfB cormsTR s e (How long o pay-order is valid for?)

A 3o BT (180 days) B. 30 i (90 days)

C. (e e e 9 (No specific valldity) L. 3 T (| year)
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4.

9,

Bom
wrefl e S s corroen v i o WS Wi YfEETHE E B ¥ (The right of o company with respect
1o it mame or Ingo are governed by the law of—)
AL TIEEDH (Patents) B. &EEF (Trademarks) C. BfaE5H (Copyrights) D. &% @06 Trade Secrers)
O 78] T (F MEMEI0S W S8 (W0 T T8 F0E @I SEg W S0 W, S0 40 (the leader who allows
the emplovees (o work independently and imposes no anthority on the work of emplovees is called @)

A, SRR T (Participative Leader) B. wrefaE o7E (Democratic Leader)

C. CrEd 781 ( Autocratic Leader) . srmed= TR (Luisser-faire Leader)

“ o= W Fe v Rams 00 2971 (Which one of the following is reluted to Scalar Chain Principle?)
A FraERiEE (Discipline) B. =¥F =% (Flow of authority)

C. FEF 394 (Delegation of authority) D). SN 2% ( Maintaining balance)

AT AT WS SRE 0T (Which one s the legal element of business environment?)

A SEETES T2 (International relations) B. FEENE (Sovereignty)

C. fogsifE (Industrin] Policy) P, Fo T (Government Svstem)

- R T Oiene e Mo @ T 58 W (Which of the following mechanisms is not used as
a tool to control imports and exports?)

A T (Licensing) B. % =™ {(Imiposition of duty)

C. el e (Fixation of Quota) D, %€ @ (Bill of Leading)

B e ey e o e = fEEar (How dees an entreprencur adopt new strategy in production
processT)

A, SHITEATTE =TT (Through persevemnee) B. =T =0 ( Through labour)

C. BT =fes gy (Through innovanon) D. s 13 BT (Formation of capinal}
b e wrefa eoamen o%E: (The concept of double insurance is upplicable to 1)

A @ fa=7 (Marine insurance) B, % 8 (Life insurance)

. =fy it (Fire insurnce) . malR Fo {Expart insurance)
FHTE T TSR SEET 51 (Who is the innovator of functional organization?)

A 4, w55, G (E.W. Taylor) B. 7. 4%, =& (1. L Lundy)

C. =@ @ (Henry Fayol) . &R (Newman)

e s iR G T (Which one of the following is not a statutory company?)

A Bt ferst w0 (Jiban Bima Corporation) B. Bff (TCB)

C. 40 (WASA) D>, *@ e W, (Puball Bank Lid, )

T SRR SR FTEmTe S e M e e T R wEEfE o (Which kind of partner allows using
hisher goodwill in business in exchange of profit or sulary?)

A G SRR (Dormant partner) B. s i (Nominal partoer)

¢ Fraras = | Limined pariner) . 'Iﬂ'qf!{z i {Quuxs3 partner

AETEs WAGE @i WS W FEEEr (What is the maximum number of members in @ private Limited
Company?)

A 2o (20) B. ¢o (50) C.a(7) . =5 (Unlimited)

. FATONR R AT AT TEN WO (TUR 2 %R0 WP (hat is the maximum percentage of share o member of

cooperative can buy?)

A 3% (10%) B. &% (15%) C. 3o% (20%) D. 32% (25%)
13, FwIE S e W oD (Which one is the first step of decision making?)

A, e T (1dentilying problem) B, Srerefd FEe | Determining standard)

C. =& (Testing) D, fesgergs B9 (Generating allematives)
14, ursfl TEEnTE SWOT R 0w T (ln SWOT anilysis of a business the *0° stands For:)

A Objectives B. Obstacles C. Opportunity . Oveércome
15, Fermae 59 o @it (Which one is the main objective of control?)

A wiiarEs =1 99 (To rule the employees)

B. ¥ "% 6 (To wdeniify the mistakes)

C. T Aerme 34 (To cormect the employees)

1, =fgegen wprih wafey wom fo 9 21 670 (To see wherther everything 15 going on as per plan]

. Fosw o= wrpinm Fees i (Registration of which company of the following is optional?)

A sy wfafE (Cooperutive Sociely) B, v Wfibe cereaf (Public Limitad Company)
C. en¥reh e i (Private Limited Company) D, =0 =@ (Purnership Business)
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